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A. INSTRUCTION: “NTICE PYHE TEST—| 3

1 Read all instructions carefully. Check total pages and no. of questions of your booklet in each subject

2. Write your Name, Enrolment number, Examination Centre, Question paper cod¢, Batch code,
Examination session in the boxes provided for STUDENT INFORMATION

3. Darken the appropriate bubble under each digit of enrolment number, question paper code written by you
on the OMR sheet.

>

Maximum Marks: 210

B. QUESTION PAPER FORMAT:

1. The question paper censists of Three parts (P,C.M in any order). Each Ea::"“ H :j ::'rEE:EeF-w,IL
2 Section 1 contzins 10 MULTIPLE CHOICE QUESTION. EACH QUESTION HAS & LRUILES (A) (B)

(C) (D) out of which giilkone is correct. | -, R
3 Section 2 @%‘? multiple choice questions. Each question has 4 cnoices (~), (8). (&) and (D) 101

v : * o~y =latlal 1 ) E"
ntains 5 questions. The answer to each question Is a single digit integer, ranging from 0 to
(ﬁ: Inclusive).

| m%? &f which one or more are correct.
3 e\{\ee\l\lgéé‘ 33%%“2

C. MARKING SCHEME: =
1 For each question in Section 1, you will be awarded 3 marks if you darken the bubble corresponacing 0
the correct answer only and zero mark if no bubbles are darkened in all other cases minus one (-1) Mark
will be awarded in this section.
2. For each question in Section 2 you will be awarded 4 marks if you darken all the bubbles corresponding

: - |
to the correct answer only. In all other cases zero marks will be awarded. No neqative marks will be
awarded for any incorrect in the section.

3 For each question in Section 3 you will be awarded 4 marks if you darken the t}ubbles_ cnrrespﬂndmg 0
the correct answer only in all other cases zero (0) mark will be awarded. No negative marks will be

awarded for incorrect answer in the section J

| B, |
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This section contains 5
(both inclusive).

SECTION - 3 : Integer Answer Type

questions. The answer to each question is a single digit integer, ranging from 0 to 9

16.

17

18.

19.

h‘

A small sphere of mass m = 2kg and radius r = 0.5cm is moving in a smooth horizontal
Circular groove of radius R = 10m with constant speed of 5m/s find the work done on
the sphere by the normal force exerted by the groove in 1 minute. O

- et

A block of mass m = 1 kg is placed on the other block of mass M = 2 kg,
Which in turns placed on a smooth horizontal surface as shown in the figure.  F
The coefficient of friction between the blocks is 0.4. A constant horizontal M
force F = 6N is applied on M at time t = 0. Find the magnitude of the work

done (in joule) by friction on the block of mass m = 1kg in first one second in

m

ground frame. 3 |

In the adjacent figure initially block is at rest and two horizontal forces F, m = 5Kg

and F; of magnitudes 20N and 10N respectively are applied F,=10N Fy = 20N
simultaneously at time t = 0. The coefficient of friction between the block 'j;l:

and the ground is u = D.Za\@éféaiate the work done by friction force on

S =02

the block in fir

i ﬁw%‘mﬁ% Mie O
Wb@mw?ﬁgﬁd B are located at points (0, -10V3) and (0, 0) respectively in xy plane Thf_:y start
moving simultaneously at time t = 0 with constant velocities V A S 5i m/s and V2 543] m/s.
respectively. Time when they are closest to each other is found to be K/2 second. Find K Al
distances are given in meter. 2

=

Vectors P,QandR have magnitudes 5,12, and 13 units respectively and P+ Q =R _If angle between
Q and R is 6. Then find gcosﬁ. Z

——
—-—

_S-;'::aceTor rough work

e & z(E,_EJM'z_)



ITH'IHDTRIH‘I-%I. 81-B4, C1.C2, SDTW24A1-AS, B1-B4,

C1-C2, SDTX24A1-T1, SDTWO1-P1-PCM-Paper-2(1828.1)-6

SECTION -3 ; Multiple Correct Answer(s) Type 2’

This section contains 6 m
; ultiple choice tions. i i nd (D) out
of which ONE OR MORE a Ry Questions. Each question has four choices (A), (B), (C) and (

2 ;Lmhpﬂ!‘licles Projected from the same point with same speed u at angles of projection a and [} strike
° norizontal ground at the same point. If h, and h, are the maximum heights attained by the
Projectiles, R is the range for both and ty and t; are their time of flights, respectively, then.

(&) n - = =
\{()ﬂ.+ﬂﬂ'§ (E}R=4JI’TI‘]2 j o

ul' .’;__-'1' e _: . e |
P ff-f"b..i.xg"ﬂ ) :.-f f
(C)-:-’-ﬂﬂnu (D) tana = 4,/h,/h, J > U
2
16. Let a, and a, represent radial and tangential accelerations. The motion of a particle may be circular if
\Eg?r=il:=ﬂ (B)a,=0anda,# 0
I@ a=0anda =0 \_(-D{:.-atﬂanda.-rﬂ
17. A swimmer swims in a flowing river. V. = velocity of swimmer w.r.t. river water, Vv, o = velocity of river

opposite bank of the river. It is possible only when

@ water w.r.t. ground, and i“= velocity of swimmer w.r.t. ground. The swimmer intends to reach at the
(A) Vig = Var w)/vr.u < Ve

(C) Vsg < vq, (D) none of the above
18. A horizontal force of magnitude F is applied to a body of weight mg resting on a frictionless inclined
~ plane to prevent it from sliding down. The plane makes an angle of ¢ with the horizontal. Then the
_CQ normal reaction acting on the body satisfies the condition A 4
anmgmsow-Fsino) (B) N=mg cos ¢ e XA ?’th el
(C) N = mg/cos ¢ (D) N = {(mg)*+F?)'"? o
19, In a car race, car A takes time t Iesithan car B and passes the finishing point with a velocity of 12 m/s i

more than the velocity ngevﬁ@h\%:ar B passes the finishing point. Assume that the cars A and B start

9 from rest and vwi.% nstant accelerations of 9 m/s’ and 4 m/s?, respectively, If v and vg be the
o2
vel {%qa 6fCa 'ﬁ’la , respectively, then Ve 2« B x =] o S
Y2 = VESS
?ﬂ?%t s@@gg j;f)= 3 sec L z &
(C) va=24 m/s, vg = 12 m/s Va = 36 m/s, vg = 24 m/s e =
B~ = B tf ‘:li.ﬂ ¢
20. Read and examine the following statements. Which of these is/are true?

e t (AY The total work done by the conservative, non-conservative and external forces on a system
i equals to the change in kinetic energy of the system.
g O (B) Work done by conservative forces equals to the change in potential energy of the system.
0 .@6)/ The total work done by the non-conservative and external forces on a system equals to the
. change in mechanical energy of the system.

(D) Work is done by the battery in glowing an electric bulb. o }’
. %‘___
P g Space for rough work }/ e
- "l:'-' \ ll..-t'rw ""“\W - "':L"; = T I Il:;'\"t'l'
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PART - IIl: MATHEMATICS

SECTION - 1 : Single Correct Answar Type

C{ fgo:/"]

This section contains 8 multi i in has four choices (A), (B), (C) and (D) out
. ple choice questions Each question has
fﬂm ONLY ONE is correct. 2 o

-
i h
The equation of a straight line passing thrnuqh the point (-2, 3) and making intercepts of equal lengt
on the axes is sm-Ay ot TN % a4 = | 3 —
2 {A) 21‘,+ Y:t- 1=0 - e * [B} &gl y_".h= 5 » B s - 9 - =
AEyrhEl e o o T ‘5 (D)xryrbEO R m o4y = & = a
P R R i ot - 83995 | s
2. The equation of the two lines each passing through (5, 6) and each making an acute angle of 45° with \
2% theline2x-y+1=0is | S ¢ 2l v ~
X AT 3x+y-21=0,x-3y+13=0 '’ (B)3x+y+21=0,x+3y+13=0 e ST L
A\ (C)y=2x,y=3x » N , 5"fP‘i_i{D)3x+y—21=0.;—35‘*13=0x o T
i i i - i “:' L a J.a. - ) | 1
3. A variable chord of circle x* + y* = 4 Is drawn from the point P(3, 5) meeting the circle at the points A
- g © -J” ‘and B. A point Q is taken on this chord such that 2PQ = PA + PB locus of Q is W T (o
W {A}r’+y?2~3x+4y=0 (B) x* + y* = 36 | - &
L Y ' {C}xzq-y’-'ls (D}x2+y1—3x-5y=0 o Y =
4. The angle at which the circles (x - 1)° + y* = 10 and x* + (y - 2)° = 5 intersect is M. <+ Y- /
- _:1, - ! i n
5~ WA= ®) 7
N T 2 = “t/ vl Q
e Sl B 2k foa® = [, -
N o) $10 (at2R) = 7t (e
"35, If cot(a + B) = 0, then sin(a + 2B) is equal to |
oY (A) -sina rot (w~ B ‘(E(Sinﬂ f—-‘mlrh; = rn, -
(C) cosa (D) cosp |l 5m = 2 ~rF
6. In a triangle ABC. tanA + tanB + tanC = 6 and tanA.tanB = 2, then the value of tanA, tanB and tanC E
are - e o vy : " - 7 = 3
’ cB';. . PAF.QQ:? 2 ?1‘__{‘.-. ! {ftuem imf‘+Q) |
#1.2.3 e PR QAB)3, .- tewmAdtam R — /L ai@uf)3 5T
e b0 ¢ .fr % 4‘-‘" ' . 3 3 e ————— /. 5
13 p S—0 ‘ y = | ;
C)4,-.= v (D) none the these 24 s ) 56
0~(Rea) 2° o e My-m, s

¢l 4 tewnm R
7 FA={1,357,9 11,13,15,17},B=(2,4, ..., 18} and N is the universal set,

O then A'V ((AuB)B')is ALROR’ Su— . |

e b i }@pi\*‘m < ( ) T

Py JF)B mNO‘eéé;e} Y (D) None of these = | o :!

g 4%? [PZI ?bg\k“gg@epﬁx @észin the interval RN LYY
3

g0 s < n43 s ] (5420 sni3,
PN A3 SV sy

vt~ %S &~ 9

€ - )t~
> - '5'1..n..<31 s C
(C) [—-E -2J n K =-2 (D) none of these _ E/é cr &2 -9
( Sim (807 B) Space for rough work ;_F; Ly S e et
~(lg O~ — | - p
‘”am(ue) :g;ﬁﬂma-&;_.n@cg;_ﬁ & 6 = Sx3 4¢
90 > coL90 CosAreil (OTA G 3 :(”'("‘q‘i
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